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e mks system: F(newtons) = m (kilograms) - a (m/s2)
e CQgs system: F(dynes) = m (grams) - a (cm/s2)

e English system: F(pounds) = m (slugs) - a (ft/s2)
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w=mg

mks system: w (newtons) = m (kilograms) - g (m/s2)
cgs system: w(dynes) = m (grams) - g (cm/s2)

English system. w(pounds) = m (slugs) - g (ft/s2).
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1 joule =1 newton-meter =0.7376 f-lb
1 ft-Ib =1.356 joules.
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1 joule =107 ergs.
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In the mks system : PE (joules) = m (kg) - g (m/s2) - A (m).
In the cgs system: PE (ergs) = m(grams) - g (cm/s2) - A (cm).
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e 1 watt = 1 joule/s
e 1 kilowatt (kw) = 1000 watts = 1.34 horsepower
e 1 horsepower (hp) = 550 ft-Ib/s = 33,000 ft-Ib/min = 746 watts

r:l:u‘ C& oy 45‘5.39 elw ) 50 03 r:L?u‘ )UJS‘Q"‘)"L“’ .03 ;é)..a..a UL°) X u|y= 03 raL?u‘ )U
Ceyow oS allin ¢ el ) jooal plosl SIS IS e el SlgelS VLl e | Dlgl S Y IS

Ses F
D e e e

p= ™ yi

(EXCH
dyne/cm?g nt/m2 db/in2 db/ft2 5l o le JLid loosly 5l phan qrlaw g gy dlg 4 dias
2,5 aualys oolatwl o] 5l olS 5 O Ly, jo cdél Lo a5 conl (salg dyne/cm?
1108 dyne/cm2 =1 bar
=,L V- L megaPascal \ = ,L)- ;& 5 cws ISl Pascal uxly .o 5 Sl axly SO L oty o Jl> cpl b

3,5 asdles Cuzo Il idu )0 sty Sl i 9550 0 Lo MPa )

C;:)‘)} G

Sigh ooy pj b 4 LS ke (5,5 ol 0 Vgeme aly e el (65l o5 Lo S



ST P3| Ry SO AES TaA T ()

Lﬁbd.>|9

Sl a0V e 4 Ol 2,5 ) Ol as o aulEl Gl psY sle,S i = (Cal) s JI5 )
FUELR 1) BN NS W PR P E ojlail s ol 2,5V loo Lmldl gl a3Y slo 3 i 6317;3])’1
Vol G CBo w0 aS oo IS ol 398 iy yu (o], Kbl a0 ) e G- lalo B )0 ao )0 Sgu
oy Jas sl o JIS S canl oads 38195 ¢ )5 380 sl IS (ol !l ide Cols ) cailas La v o
g3 FOAT e = 5V 45 (6 p5b & S i 5 (5355 (S S0

Bl 4,0 WO 4 NFI0 51T )5 Y sles ialidl sl 5Li 0550 655 )‘“‘5*“-31:-1)55 LS laie
Sl Soo3 0,8

S8 Ve = (keal) 5 J5 LS SO Y

Wg VOl az o ulidl ol 5l 050 sl )T jlase = (BlU) pu SN i sy Gl axlg VY
ol )8 az )0 ) liee 4

1 Btu = 453.6 -5/9 cal = 252 cal.
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¢ length = meter (m)
e mass = kilogram (kg)
o time = second (s)
e electric current = ampere (A)
o thermodynamic temperature = kelvin (K)
e amount of substance = mole (mol)

e luminous intensity = candela (cd)
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e area = square meter (m2)

e volume = cubic meter (m3)

e speed, velocity = meter per second (m/s)

e acceleration = meter per second squared (m/s2)

e wWave number = 1 per meter (m-1)

 density, mass density = kilogram per cubic meter (kg/m3)
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TABLE 2.1 Sl base units?

SI Unit
Quantity Name Symbol
Length meter m
Mass kilogram kg
Time second s
Electric current ampere A
Thermodynamic temperature kelvin K
Amount of substance mole mol

Luminous intensity candela cd




TABLE 2.2 Example of SI derived units expressed in terms of base units?

SI Unit
Quantity Name Symbol
Arca square meter m?
Volume cubic meter m?3
Speed, velocity meter per second m/s
Acceleration meter per second squared m/s?
Wave number reciprocal meter m~!
Density, mass density kilogram per cubic meter kg/m3
Specific volume cubic meter per kilogram m3/kg
Current density ampere per square meter A/m?
Magnetic field strength ampere per meter A/m
Concentration (of amount of substance) mole per cubic meter mol/m>
Luminance candela per square meter cd/m?
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